
Task 2 Task 2 Task 2 Task 2 三大命题形式三大命题形式三大命题形式三大命题形式
1.Argumentation1.Argumentation1.Argumentation1.Argumentation辩论型题目辩论型题目辩论型题目辩论型题目    70%70%70%70%
2.Explanation  2.Explanation  2.Explanation  2.Explanation  解释型题目解释型题目解释型题目解释型题目 20% 20% 20% 20%
3.Others 3.Others 3.Others 3.Others 其他型题目其他型题目其他型题目其他型题目       10%        10%        10%        10% 



2.Traffic jam is a problem in big cities. 2.Traffic jam is a problem in big cities. 2.Traffic jam is a problem in big cities. 2.Traffic jam is a problem in big cities. 
What causes the problem? Make some What causes the problem? Make some What causes the problem? Make some What causes the problem? Make some 
suggestions. suggestions. suggestions. suggestions. 



3.It is generally acknowledged that families 3.It is generally acknowledged that families 3.It is generally acknowledged that families 3.It is generally acknowledged that families 
are now not as close as they used to be. Give are now not as close as they used to be. Give are now not as close as they used to be. Give are now not as close as they used to be. Give 
possible reasons and your recommendations.possible reasons and your recommendations.possible reasons and your recommendations.possible reasons and your recommendations.



结构结构结构结构     基本同对称式结构基本同对称式结构基本同对称式结构基本同对称式结构   4/3  4/3  4/3  4/3段段段段



Topic:Topic:Topic:Topic:
Nowadays it is difficult for university Nowadays it is difficult for university Nowadays it is difficult for university Nowadays it is difficult for university 
graduates to find a job. Analyze the graduates to find a job. Analyze the graduates to find a job. Analyze the graduates to find a job. Analyze the 
individual and social reasons and offer individual and social reasons and offer individual and social reasons and offer individual and social reasons and offer 
some solutions. some solutions. some solutions. some solutions. 



开头段：3句

1句过去+1句现在（可以改写题目）
+1句引起下文



In the pastIn the pastIn the pastIn the past,,,, university graduates could easily find a 
satisfactory job. However, in recent yearsHowever, in recent yearsHowever, in recent yearsHowever, in recent years,,,, it is hard 
for them to find an ordinary job. It is crucial to It is crucial to It is crucial to It is crucial to 
analyze the causes of this disturbing issue and analyze the causes of this disturbing issue and analyze the causes of this disturbing issue and analyze the causes of this disturbing issue and 
explore effective solutions to handle it.explore effective solutions to handle it.explore effective solutions to handle it.explore effective solutions to handle it.



As far as I am concerned, the problem is attributed to As far as I am concerned, the problem is attributed to As far as I am concerned, the problem is attributed to As far as I am concerned, the problem is attributed to 
the following reasons. The first reason is that the following reasons. The first reason is that the following reasons. The first reason is that the following reasons. The first reason is that nowadays 
university students cannot concentrate on their studies. It It It It 
is commonly accepted thatis commonly accepted thatis commonly accepted thatis commonly accepted that high technology brings them 
a lot of interesting things which can easily attract their 
attention, such as TV, the Internet and computer games. If 
they are addicted to these activities, they often ignore their 
studies. Another reason is that Another reason is that Another reason is that Another reason is that because    the global 
economy is in depression, many enterprises meet some 
difficulties and even go bankrupt. As a consequence, they 
do not require as many university graduates as before. 



Considering the seriousness of the problem, effective Considering the seriousness of the problem, effective Considering the seriousness of the problem, effective Considering the seriousness of the problem, effective 
measures must be taken before things get worse. In measures must be taken before things get worse. In measures must be taken before things get worse. In measures must be taken before things get worse. In 
the first place, the first place, the first place, the first place, we should encourage students to spend 
more time on their studies to improve academic 
performance. It is well known thatIt is well known thatIt is well known thatIt is well known that students should devote 
more time and energy to their learning, which is their main 
task. In the second placeIn the second placeIn the second placeIn the second place,,,, the government should try its 
best to promote the development of economy to provide 
more job opportunities for young university graduates. It It It It 
goes without saying thatgoes without saying thatgoes without saying thatgoes without saying that it is the government’s 
responsibility to help enterprises to overcome difficulties. 



第二段：
写原因。先写1句概述，然后说出两个原因，
每个原因写2-3句话



第三段：
写解决办法。先写一句概述，然后说出两
个解决办法，每个解决办法写2-3句话。



To sum up, there are many reasons To sum up, there are many reasons To sum up, there are many reasons To sum up, there are many reasons 
which lead to this unpleasant which lead to this unpleasant which lead to this unpleasant which lead to this unpleasant 
phenomenon and something should be phenomenon and something should be phenomenon and something should be phenomenon and something should be 
done as soon as possible to solve the done as soon as possible to solve the done as soon as possible to solve the done as soon as possible to solve the 
problem. problem. problem. problem. 



第四段：
如果字数已经够了，第四段也可以不写。如
果不够字数，可以围绕题目写2句左右，提
出希望，发出号召，展望未来等。如果自己
不会写，也可以使用模板式句型。



In the past,In the past,In the past,In the past, university graduates could easily 
find a satisfactory job. 

However, in recent years,However, in recent years,However, in recent years,However, in recent years,  it is hard for them to 
find an ordinary job. 

Nowadays university students cannot 
concentrate on their studies. 



High technology brings them a lot of interesting 
things which can easily attract their attention, 
such as TV, the Internet and computer games. 

If they are addicted to these activities, they often 
ignore their studies. 

Because    the global economy is in depression, 
many enterprises meet some
difficulties and even go bankrupt. 



As a consequence, they do not require as 
many university graduates as before. 

 We should encourage students to spend 
more time on their studies to improve 
academic performance. 

Students should devote more time and energy 
to their learning, which is their main task. 



The government should try its best to promote 
the development of economy to provide more 
job opportunities for young university 
graduates. 

It is the government’s responsibility to help 
enterprises to overcome difficulties. 


